

QUASI - P-NORMAL COMPOSITION AND WEIGHTED COMPOSITION OPERATORS ON THE COMPLEX HILBERT SPACE AND n POWER CLASS (Q) OPERATORS AND COMPOSITION OPERATORS ON THE HILBERT SPACE

K.M. MANIKANDAN¹ AND T. VELUCHAMY

ABSTRACT. In this paper we characterized quasi- P-normal operators, composition operators, weighted composition operators and almost similarity of operators in the complex Hilbert space.

1. INTRODUCTION

Let H be a Complex Hilbert Space. An operator T on H is called normal if $T^*T = TT^*$, quasi normal if $TT^*T = T^*TT$. i.e., T^*T commute with T , quasi P-normal if $T^*T(T + T^*) = (T + T^*)T^*T$, and it is denoted by [QPN], 2 power normal operator if. $T^2T^* = T^*T^2$ An operator T is class (Q) operator if $T^{*2}T^2 = (T^*T)^2$, see [1–5].

Composition Operator: Let $L^2(\lambda) = L^2(X, \Sigma, \lambda)$ where (X, Σ, λ) is a σ - finite measure space. The relation almost everywhere, denoted by a.e is an equivalence relation in $L^2(\lambda)$. Let T be a non singular measurable transformation from X onto itself. Then the composition operator C_T on the space $L^2(\lambda)$ induced by T is given by $C_T f = f \circ T$ for all $f \in L^2(\lambda)$ and $C_T^* f = h.E(f) \circ T^{-1}$ for all $f \in L^2(\lambda)$.

¹corresponding author

2010 Mathematics Subject Classification. 47B20.

Key words and phrases. Normal operators, composition operators, weighted composition operators, Class (Q) operator, almost similar operators.

Weighted Composition Operator: A Weighted Composition Operator W is a linear transformation acting on a set of complex valued $\sum$ - measurable functions f of the form $Wf = \phi C_T f = \phi(f \circ T)$, where ϕ is a complex valued $\sum$ - measurable function. When $\phi = 1$, we say W is a composition operator. The adjoint operator W^* is defined as $W^*f = h.E(\phi.f) \circ T^{-1}$ for $f \in L^2(\lambda)$. Also $\phi_n = \phi(\phi \circ T)(\phi \circ T^2)(\phi \circ T^3) \dots (\phi \circ T^{n-1})$. For $f \in L^2(\lambda)$, $W^n f = \phi_n.f \circ T^n$, $W^{*n} f = h_n.E(\phi_n.f) \circ T^{-n}$.

2. SOME CHARACTERIZATIONS ON QUASI - P NORMAL OPERATORS.

Theorem 2.1. *Every normal operator T is quasi P- normal operator.*

Theorem 2.2. *If T is a normal operator, then T^* is quasi P- normal operator.*

Theorem 2.3. *Let T be a quasi P - normal operator. If T is 2 power normal operator, then T^* is a quasi P normal operator.*

Proof. Given T is a quasi P - normal operator. Therefore, $[T + T^*, T^*T] = 0$. i.e, $(T + T^*)T^*T = T^*T(T + T^*)$, which implies that $TT^*T + T^*T^*T = T^*TT + T^*TT^*$.

$$(2.1) \quad TT^*T + T^{*2}T = T^*T^2 + T^*TT^*.$$

Also, T is 2 - power normal operator. Therefore,

$$(2.2) \quad T^2T^* = T^*T^2.$$

Taking adjoint on both sides,

$$(2.3) \quad TT^{*2} = T^{*2}T.$$

When we substitute (2.2) and (2.3) in (2.1), we get:

$$\begin{aligned} TT^*T + TT^{*2} &= T^2T^* + T^*TT^* \\ \Rightarrow TT^*T + TT^*T^* &= T^*TT^* + T^*TT^* \\ \Rightarrow TT^*(T + T^*) &= (T + T^*)TT^* \\ \Rightarrow [T + T^*, TT^*] &= 0. \end{aligned}$$

Hence, T^* is quasi P normal operator. □

2.1. Quasi P normal Composition operators on the Complex Hilbert space.

Theorem 2.4. *Let C_T be a composition operator on $L^2(\lambda)$. Then the following statements are equivalent.*

- (i) C_T^* is quasi - P - normal operator.
- (ii) $h^2.E(f)] \circ T^{-1} + h \circ T^2.E(f) \circ T = (h \circ T).E(h).E(f) \circ T^{-1} + h \circ T + E[f \circ T]$.

Proof. Suppose, for $f \in L^2(\mu)$, C_T^* is quasi - P - normal operator. Then

$(C_T^* + C_T)(C_T C_T^*)f = (C_T C_T^*)(C_T^* + C_T)f$, and we have:

$$\begin{aligned}
 (C_T^* + C_T)(C_T C_T^*)f &= C_T^*(C_T C_T^*)f + C_T(C_T C_T^*)f \\
 &= C_T^* C_T(h.E(f) \circ T^{-1}) + C_T C_T(h.E(f) \circ T^{-1}) \\
 &= C_T^*(h.E(f) \circ T^{-1}) \circ T + C_T(h.E(f) \circ T^{-1}) \circ T \\
 &= C_T^*(h \circ T.E(f)) + C_T(h \circ T.E(f)) \\
 &= h.E[h \circ T.E(f)] \circ T^{-1} + (h \circ T.E(f)) \circ T \\
 &= h.h.E(f)] \circ T^{-1} + h \circ T^2.E(f) \circ T \\
 &= h^2.E(f)] \circ T^{-1} + h \circ T^2.E(f) \circ T.
 \end{aligned}$$

$$\begin{aligned}
 (C_T C_T^*)(C_T^* + C_T)f &= (C_T C_T^*)C_T^*f + (C_T C_T^*)C_Tf \\
 &= C_T C_T^*(h.E(f) \circ T^{-1}) + C_T C_T^*(f \circ T) \\
 &= C_T[h.E[h.E(f) \circ T^{-1}] \circ T^{-1}] + C_T C_T^*(f \circ T) \\
 &= C_T[h.E[h] \circ T^{-1}.E(f) \circ T^{-2}] + C_T[h.E[f \circ T] \circ T^{-1}] \\
 &= [h.E[h] \circ T^{-1}.E(f) \circ T^{-2}] \circ T + [h.f] \circ T \\
 &= \circ T.E(h).E(f) \circ T^{-1} + h \circ T.f \circ T.
 \end{aligned}$$

If C_T is quasi - P - normal operator. Then we have,

$(C_T^* + C_T)(C_T C_T^*)f = (C_T C_T^*)(C_T^* + C_T)f$, and this implies that,

$$h^2.E(f)] \circ T^{-1} + h \circ T^2.E(f) \circ T = h \circ T.E(h).E(f) \circ T^{-1} + h \circ T.f \circ T. \quad \square$$

2.2. Characterizations on Quasi P normal Weighted Composition operators on L^2 space.

Theorem 2.5. *Let W be a weighted composition operator on $L^2(\lambda)$. Then the following statements are equivalent.*

- (i) W is quasi - P - normal operator.

$$(ii) \quad \phi.h \circ T.E[\phi^2].f \circ T + h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi^2] \circ T^{-2}.E(f) \circ T^{-1} = \\ h.E[\phi.\phi_2] \circ T^{-1}.f \circ T + h.E[\phi^2] \circ T^{-1}.h.E(\phi.f) \circ T^{-1}.$$

Proof. For $f \in L^2(\mu)$, W is quasi - P - normal operator if $(W + W^*)(W^*W)f = (W^*W)(W + W^*)f$, and we have:

$$\begin{aligned} (W + W^*)(W^*W)f &= W(W^*W)f + W^*(W^*W)f \\ &= WW^*(\phi.f \circ T) + W^*W^*(\phi.f \circ T) \\ &= W[h.E(\phi.\phi.f \circ T) \circ T^{-1}] + W^*[h.E(\phi.\phi.f \circ T) \circ T^{-1}] \\ &= W[h.E[\phi^2] \circ T^{-1}.f] + W^*[h.E[\phi^2] \circ T^{-1}.f] \\ &= \phi.(h.E[\phi^2] \circ T^{-1}.f) \circ T + h.E[\phi.h.E[\phi^2] \circ T^{-1}.f] \circ T^{-1} \\ &= \phi.h \circ T.E[\phi^2].f \circ T + h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi^2] \circ T^{-2}.E(f) \circ T^{-1}. \end{aligned}$$

Consider,

$$\begin{aligned} (W^*W)(W + W^*)f &= (W^*W)Wf + (W^*W)W^*f \\ &= (W^*W)(\phi.f \circ T) + (W^*W)h.E(\phi.f) \circ T^{-1} \\ &= W^*[\phi.(\phi.f \circ T) \circ T] + W^*[\phi.(h.E(\phi.f) \circ T^{-1}) \circ T] \\ &= W^*[\phi.\phi \circ T.f \circ T^2] + W^*\phi.h \circ T.E(\phi.f) \\ &= W^*[\phi_2.f \circ T^2] + W^*[\phi.h \circ T.E(\phi.f)] \\ &= h.E[\phi.\phi_2.f \circ T^2] \circ T^{-1} + h.E[\phi.\phi.h \circ T.E(\phi.f)] \circ T^{-1} \\ &= h.E[\phi.\phi_2] \circ T^{-1}.f \circ T + h.E[\phi^2] \circ T^{-1}.h.E(\phi.f) \circ T^{-1}. \end{aligned}$$

Suppose, W is quasi - P - normal operator. Then,

$$\begin{aligned} (W + W^*)(W^*W)f &= (W^*W)(W + W^*)f \\ \Leftrightarrow \phi.h \circ T.E[\phi^2].f \circ T + h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi^2] \circ T^{-2}.E(f) \circ T^{-1} &= h.E[\phi.\phi_2] \circ T^{-1}.f \circ T + h.E[\phi^2] \circ T^{-1}.h.E(\phi.f) \circ T^{-1}. \end{aligned} \quad \square$$

Theorem 2.6. Let W be a weighted composition operator on $L^2(\lambda)$. Then the following statements are equivalent.

- (i) W^* is quasi - P - normal operator.
- (ii) $h.E[\phi^2] \circ T^{-1}.E(f).E(\phi.f) \circ T^{-1} + \phi_2.h \circ T^2.E(\phi.f) \circ T = \phi.h \circ T.E[\phi].E[h].E(\phi.f) \circ T^{-1} + \phi.h \circ T.E[\phi^2].f \circ T$.

Proof. For $f \in L^2(\lambda)$, W^* is quasi - P - normal operator if $(W^* + W)(WW^*)f = (WW^*)(W^* + W)f$, and then we have:

$$\begin{aligned}
 (W^* + W)(WW^*)f &= W^*(WW^*)f + W(WW^*)f \\
 &= W^*Wh.E(\phi.f) \circ T^{-1} + WWh.E(\phi.f) \circ T^{-1} \\
 &= W^*\phi.[h.E(\phi.f) \circ T^{-1}] \circ T + W\phi.[h.E(\phi.f) \circ T^{-1}] \circ T \\
 &= W^*[\phi.h \circ T.E(\phi.f)] + W[\phi.h \circ T.E(\phi.f)] \\
 &= h.E[\phi.\phi.h \circ T.E(\phi.f)] \circ T^{-1} + \phi.[\phi.h \circ T.E(\phi.f)] \circ T \\
 &= .E[\phi^2] \circ T^{-1}.h.E(\phi.f) \circ T^{-1} + \phi.(\phi \circ T).h \circ T^2.E(\phi.f) \circ T \\
 &= h.E[\phi^2] \circ T^{-1}.h.E(\phi.f) \circ T^{-1} + \phi.h \circ T^2.E(\phi.f) \circ T.
 \end{aligned}$$

Consider,

$$\begin{aligned}
 (WW^*)(W^* + W)f &= (WW^*)W^*f + (WW^*)Wf \\
 &= (WW^*)(h.E(\phi.f) \circ T^{-1} + (WW^*)(\phi.f \circ T)) \\
 &= Wh.E[\phi.h.E(\phi.f) \circ T^{-1}] \circ T^{-1} + Wh.E(\phi.\phi.f \circ T) \circ T^{-1} \\
 &= W[h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E(\phi.f) \circ T^{-2}] + W[h.E[\phi^2] \circ T^{-1}.f] \\
 &= \phi.[h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E(\phi.f) \circ T^{-2}] \circ T + \phi.[h.E[\phi^2] \circ T^{-1}.f] \circ T \\
 &= \phi.h \circ T.E[\phi].E[h].E(\phi.f) \circ T^{-1} + \phi.h \circ T.E[\phi^2].f \circ T.
 \end{aligned}$$

Suppose, W^* is quasi - P - normal operator. Then,

$$\begin{aligned}
 (W^* + W)(WW^*)f &= (WW^*)(W^* + W)f \\
 \Leftrightarrow h.E[\phi^2] \circ T^{-1}.E(f).E(\phi.f) \circ T^{-1} + \phi.h \circ T^2.E(\phi.f) \circ T &= \phi.h \circ T.E[\phi].E[h]. \\
 E(\phi.f) \circ T^{-1} + \phi.h \circ T.E[\phi^2].f \circ T &\quad \square
 \end{aligned}$$

2.3. Characterizations on Almost similar and similar operators.

Definition 2.1. Almost similar operators [6]: Two bounded linear operators T and S of a Banach Algebra on a Hilbert space H (i.e S and $T \in B(H)$) are said to be almost similar if there exists an invertible operator N such that the following two conditions are satisfied. $S^*S = N^{-1}(T^*T)N$ and $S^* + S = N^{-1}(T^* + T)N$.

Remark 2.1. Almost similarity of an operator is also an equivalence relation.

Theorem 2.7. Let S be a Quasi P - normal operator, $T \in B(H)$ and $S \in B(H)$. If S almost similar to T then T is Quasi P - normal operator.

Proof. Since, ST almost, from the definition, we have: $S^*S = N^{-1}(T^*T)N$ and $S^* + S = N^{-1}(T^* + T)N$,

$$(2.4) \quad S^*S(S^* + S) = N^{-1}(T^*T)NN^{-1}(T^* + T)N = N^{-1}(T^*T)(T^* + T)N,$$

and

$$(2.5) \quad (S^* + S)S^*S = N^{-1}(T^* + T)NN^{-1}(T^*T)N = N^{-1}(T^* + T)(T^*T)N.$$

Since S is quasi - P normal operator, by definition we get,

$S^*S(S^* + S) = (S^* + S)S^*S$ and therefore from equations (2.4) and (2.5) we get,

$N^{-1}(T^*T)(T^* + T)N = N^{-1}(T^* + T)(T^*T)N$. Since N is invertible, pre multiply by N and post multiply by N^{-1} , we obtain $(T^*T)(T^* + T) = (T^* + T)(T^*T)$. Hence T is also Quasi P - normal operator. $\square$

3. n POWER CLASS (Q) OPERATORS

3.1. Characterizations on n power class (Q) operators on the Hilbert space.

Let H be a Hilbert space and $L(H)$ be the algebra of all bounded linear operators acting on H . An operator T in $L(H)$ is called normal if $T^*T = TT^*$, class (Q) if $T^{*2}T^2 = (T^*T)^2$, n power class (Q) if $T^{*2}T^{2n} = (T^*T^n)^2$. If T is not n power class (Q) operator but T^* is also n power class (Q) operator for some $n \in \mathbb{N}$. We verify this result through the following example for $n=2$.

Example 1. An operator $T = \begin{pmatrix} i & 2 \\ 0 & -i \end{pmatrix}$ acting on C^2 is not power class (Q) but 2 power class(Q) operator and the adjoint of T is 2 power class(Q) operator.

Solution: Given, $T = \begin{pmatrix} i & 2 \\ 0 & -i \end{pmatrix}$, from this we get $T^* = \begin{pmatrix} -i & 0 \\ 2 & i \end{pmatrix}$, By usual matrix calculations we get, $T^{*2}T^2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$, $(T^*T)^2 = \begin{pmatrix} 5 & -12i \\ 12i & 29 \end{pmatrix}$,
 $T^{*2}T^2 \neq (T^*T)^2$, Hence, T is not power class (Q) operator. Further, we have:

$T^{*2}T^4 = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix} = (T^*T^2)^2$. It follows that T is 2 power class(Q) operator. Also $T^2T^{(*)^4} = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix} = (TT^{*2})^2$. Hence T^* is also 2 power class (Q) operator.

3.2. Characterizations on n power class (Q) composition operators on the Hilbert space.

Theorem 3.1. Let $C_T \in B(L^2(\mu))$. Then C_T is in n power class (Q) if and only if $h.E[h] \circ T^{-1}.f \circ T^{2n-2} = h.h \circ T^{n-1}.f \circ T^{2n-2}$.

Proof. C_T is in n power class (Q) $\Leftrightarrow C_T^{*2}C_T^{2n}f = (C_T^*C_T^n)^2f$.

$$\begin{aligned}
 C_T^{*2}f \circ T^{2n} &= (C_T^*C_T^n)C_T^*C_T^n f \\
 C_T^*h.E[f \circ T^{2n}] \circ T^{-1} &= (C_T^*C_T^n)C_T^*(f \circ T^n) \\
 C_T^*h.f \circ T^{2n-1} &= (C_T^*C_T^n)h.E(f \circ T^n) \circ T^{-1} \\
 C_T^*[h.f \circ T^{2n-1}] &= (C_T^*C_T^n)[h.f \circ T^{n-1}] \\
 h.E[h.f \circ T^{2n-1}] \circ T^{-1} &= C_T^*C_T^{n-1}[h.f \circ T^{n-1}] \circ T \\
 h.E[h] \circ T^{-1}.f \circ T^{2n-2} &= C_T^*C_T^{n-1}[(h \circ T).f \circ T^n] \\
 &= C_T^*C_T^{n-2}[(h \circ T).(f \circ T^n)] \circ T \\
 &= C_T^*C_T^{n-2}[(h \circ T^2).(f \circ T^{(n+1)})] \\
 &= C_T^*C_T^{(n-3)}[(h \circ T^3).(f \circ T^{(n+2)})] \\
 &= C_T^*C_T^{(n-4)}[(h \circ T^4).(f \circ T^{(n+3)})] \\
 &\dots \\
 &= C_T^*[(h \circ T^n).(f \circ T^{2n-1})] \\
 &= h.E[(h \circ T^n).(f \circ T^{2n-1})] \circ T^{-1} \\
 h.E[h] \circ T^{-1}.f \circ T^{2n-2} &= h.h \circ T^{n-1}.f \circ T^{2n-2}.
 \end{aligned}$$

□

Remark 3.1. Let $C_T \in B(L^2(\mu))$. We can easily verify that $C_T^{*n}f = h.E[h] \circ T^{-1}.E[h] \circ T^{-2} \dots E[h] \circ T^{-(n-1)}E(f \circ T^n)$. This remark is used for proving the following theorem.

Theorem 3.2. Let $C_T \in B(L^2(\mu))$. Then C_T^* is in n power class (Q) if and only if $h \circ T^2.E[h] \circ T.E[h].E[h] \circ T^{-1} \dots E[h] \circ T^{-(2n-3)}.E[f] \circ T^{-(2n-2)} = h \circ T.E[h].E[h] \circ T^{-1}.E[h] \circ T^{-2} \dots E[h] \circ T^{-(n-2)}.E[h] \circ T^{-(n-2)}.E[h] \circ T^{-n+1} \dots E[h] \circ T^{-(2n-3)}.E[f] \circ T^{-(2n-2)}$.

Proof. C_T^* is in n power class (Q) $\Leftrightarrow C_T^2 C_T^{*2n} f = (C_T C_T^{*n})^2 f$. Then:

$$\begin{aligned} C_T^2 C_T^{*2n} f &= C_T^2 [h.E[h] \circ T^{-1}.E[h] \circ T^{-2} \dots E[h] \circ T^{-(2n-1)}.E[f] \circ T^{-2n}] \\ &\dots \\ &= h \circ T^2.E[h] \circ T.E[h].E[h] \circ T^{-1} \dots E[h] \circ T^{-(2n-3)}.E[f] \circ T^{-(2n-2)}. \end{aligned}$$

Further,

$$\begin{aligned} (C_T C_T^{*n})^2 f &= (C_T C_T^{*n}) C_T C_T^{*n} f \\ &\dots \\ &= h \circ T.E[h].E[h] \circ T^{-1}.E[h] \circ T^{-2} \dots \\ &\dots E[h] \circ T^{-(n-2)}.E[h] \circ T^{-(n-2)}.E[h] \circ T^{-n+1} \\ &\dots E[h] \circ T^{-(2n-3)}.E[f] \circ T^{-(2n-2)}. \end{aligned}$$

□

3.3. Characterizations on n power class (Q) weighted composition operators.

Theorem 3.3. Let W be a weighted composition operator on $B(L^2(\mu))$. Then W is n power class (Q) weighted composition operator if and only if $h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi.\phi_{2n}] \circ T^{-2}.f \circ T^{2n-2} = h.E[\phi.\phi_n] \circ T^{-1}.h \circ T^{n-1}.E[\phi.\phi_n] \circ T^{n-2}.f \circ T^{2n-2}$.

Proof. Now consider,

$$\begin{aligned} W^{*2} W^{2n} f &= W^{*2} [\phi_{2n}.f \circ T^{2n}] \\ &= W^* h.E[\phi.\phi_{2n}.f \circ T^{2n}] \circ T^{-1} \\ &= W^* h.E[\phi.\phi_{2n}] \circ T^{-1}.f \circ T^{2n-1} \\ &= h.E[\phi.h.E[\phi.\phi_{2n}] \circ T^{-1}.f \circ T^{2n-1}] \circ T^{-1} \\ &= h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi.\phi_{2n}] \circ T^{-2}.f \circ T^{2n-2}. \end{aligned}$$

Next, consider,

$$\begin{aligned}
(W^*W^n)^2 f &= (W^*W^n)W^*W^n f \\
&= (W^*W^n)W^*[\phi_n.f \circ T^n] \\
&= (W^*W^n)h.E[\phi.(\phi_n.f \circ T^n)] \circ T^{-1} \\
&= (W^*W^n)h.E[\phi.\phi_n] \circ T^{-1}.f \circ T^{n-1} \\
&= W^*W^n[h.E[\phi.\phi_n] \circ T^{-1}.f \circ T^{n-1}] \\
&= W^*\phi_n.[h.E[\phi.\phi_n] \circ T^{-1}.f \circ T^{n-1}] \circ T^n \\
&= W^*[\phi_n.h \circ T^n.E[\phi.\phi_n] \circ T^{n-1}.f \circ T^{2n-1}] \\
&= h.E[\phi.(\phi_n.h \circ T^n.E[\phi.\phi_n] \circ T^{n-1}.f \circ T^{2n-1})] \circ T^{-1} \\
&= h.E[\phi.\phi_n] \circ T^{-1}.h \circ T^{n-1}.E[\phi.\phi_n] \circ T^{n-2}.f \circ T^{2n-2}.
\end{aligned}$$

Given W is n power class (Q) weighted composition operator

$$\begin{aligned}
&\Leftrightarrow W^{*2}W^{2n}f = (W^*W^n)^2 f \\
&h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi.\phi_{2n}] \circ T^{-2}.f \circ T^{2n-2} = h.E[\phi.\phi_n] \circ T^{-1}.h \circ T^{n-1}.E[\phi.\phi_n] \circ \\
&T^{n-2}.f \circ T^{2n-2} \quad \square
\end{aligned}$$

Theorem 3.4. Let W be a weighted composition operator on $B(L^2(\mu))$. Then W^* is n power class (Q) weighted composition operator if and only if

$$\begin{aligned}
&\phi_2.h \circ T^2.E[\phi] \circ T.E[h] \circ T.E[\phi].E[h] \dots E[\phi] \circ T^{-(2n-3)}.E[h] \circ T^{-(2n-3)}E[\phi.f] \circ \\
&T^{-(2n-2)} = \phi.h \circ T.E[\phi].E[h].E[\phi] \circ T^{-1}.E[h] \circ T^{-1}E[\phi] \circ T^{-2}.E[h] \circ T^{-2} \dots E[\phi] \circ \\
&T^{-(n-2)}.E[h] \circ T^{-(n-2)}E[\phi] \circ T^{-n+1}.E[\phi] \circ T^{-n+1}E[h] \circ T^{-(n-2)}.E[\phi] \circ T^{-n+1}.E[h] \circ \\
&T^{-n+1}.E[\phi] \circ T^n.E[h] \circ T^n \dots E[\phi] \circ T^{-2n+1}.E[h] \circ T^{-2n+1}E[\phi.f] \circ T^{-(2n-2)}.
\end{aligned}$$

Proof. Now if we consider,

$$\begin{aligned}
W^2W^{*2n}f &= W^2[h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi] \circ T^{-2}.E[h] \circ T^{-2} \dots \\
&\dots \\
&E[\phi] \circ T^{-(2n-1)}.E[h] \circ T^{-(2n-1)}E[\phi.f] \circ T^{-2n} \\
&\dots \\
&= \phi_2.h \circ T^2.E[\phi] \circ T.E[h] \circ T.E[\phi].E[h] \\
&\dots \\
&E[\phi] \circ T^{-(2n-3)}.E[h] \circ T^{-(2n-3)}E[\phi.f] \circ T^{-(2n-2)},
\end{aligned}$$

and we consider,

$$\begin{aligned}
 (WW^{*n})^2 f &= (WW^{*n})WW^{*n}f \\
 &= (WW^{*n})W[h.E[\phi] \circ T^{-1}.E[h] \circ T^{-1}.E[\phi] \circ T^{-2}.E[h] \circ T^{-2} \\
 &\quad \dots \\
 &\quad [\phi] \circ T^{-(n-1)}.E[h] \circ T^{-(n-1)}E[\phi.f] \circ T^n] \\
 &\quad \dots \\
 &= \phi.h \circ T.E[\phi].E[h].E[\phi] \circ T^{-1}.E[h] \circ T^{-1}E[\phi] \circ T^{-2}.E[h] \circ T^{-2} \\
 &\quad \dots \\
 &\quad E[\phi] \circ T^{-(n-2)}.E[h] \circ T^{-(n-2)}E[\phi] \circ T^{-n+1}.E[\phi] \circ T^{-n+1} \\
 &\quad E[h] \circ T^{-(n-2)}.E[\phi] \circ T^{-n+1}.E[h] \circ T^{-n+1}.E[\phi] \circ T^n.E[h] \circ T^n \\
 &\quad \dots \\
 &\quad E[\phi] \circ T^{-2n+1}.E[h] \circ T^{-2n+1}E[\phi.f] \circ T^{-2n+2}.
 \end{aligned}$$

Since, W is a weighted composition operator, by definition, $W^2W^{*2n}f = (WW^{*n})^2f$

This implies that,

$$\begin{aligned}
 \phi_2.h \circ T^2.E[\phi] \circ T.E[h] \circ T.E[\phi].E[h].....E[\phi] \circ T^{-(2n-3)}.E[h] \circ T^{-(2n-3)}E[\phi.f] \circ \\
 T^{-(2n-2)} = \phi.h \circ T.E[\phi].E[h].E[\phi] \circ T^{-1}.E[h] \circ T^{-1}E[\phi] \circ T^{-2}.E[h] \circ T^{-2}.....E[\phi] \circ \\
 T^{-(n-2)}.E[h] \circ T^{-(n-2)}E[\phi] \circ T^{-n+1}.E[\phi] \circ T^{-n+1}E[h] \circ T^{-(n-2)}.E[\phi] \circ T^{-n+1}.E[h] \circ \\
 T^{-n+1}.E[\phi] \circ T^n.E[h] \circ T^n.....E[\phi] \circ T^{-2n+1}.E[h] \circ T^{-2n+1}E[\phi.f] \circ T^{-(2n-2)}. \quad \square
 \end{aligned}$$

REFERENCES

- [1] D.BHATTACHARYA, N. PRASAD: *Quasi-P Normal operators - linear operators on Hilbert space for which $T+T^*$ And T^*T commute*, Ultra Scientist, **24**(2A) (2012), 269-272.
- [2] K.M. MANIKANDAN, M. ATHIYAMAN: *A class of k - quasi - p normal operators*, International Society for research in Computer Science, **1** (2016), 2348 - 3040.
- [3] A. ADNAN, A.S. JIBRIL: *On operators for which $T^{*2}T^2 = (T^*T)^2$* , International Mathematical forum, **5**(46) (2010), 2255 - 2262.
- [4] S. PANAYAPPAN, N. SIVAMANI: *On n power class (Q) operators*, Int. Journal of Math. Analysis, **6**(31) (2012), 1513 - 1518.
- [5] T.VELUCHAMY, K. M. MANIKANDAN: *k -quasi- p normal composition, weighted composition and composite multiplication operators on the complex Hilbert space*, International Journal of Pure and Applied Mathematics, **119**(12) (2018), 14239-14266.

- [6] M. S. WABOMBA, S. N. ISAIAH, N. B. MUTUKU, M. A. LUNANI: *On almost similarity operator equivalence relation*, International Journal of Recent Research and Applied Studies, **15**(3), 2013.

DEPARTMENT OF MATHEMATICS

DR. SNS RAJALAKSHMI COLLEGE OF ARTS AND SCIENCE

COIMBATORE, INDIA.

E-mail address: manicbe1975@gmail.com

DEPARTMENT OF MATHEMATICS

DR. SNS RAJALAKSHMI COLLEGE OF ARTS AND SCIENCE

COIMBATORE, INDIA.

E-mail address: veluchamyt@gmail.com